NT3050 1640303

2019(0dd)

Time : 3Hrs. Sem. 111 /I.C.E.
I.P.C.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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10.

OR (372rd1)
A 3-phase 500 volt motor load has a power factor
of 0.4. Two wattmeters are connected to measure
the input and show the input to be 30 KW. Find the

reading of each instrument.

Udh @ella 500 dliee #Aley AR &1 b
AUTH 0.4 2 | ATTA I AT B¢ &l drcHex
[Aifoa @ a1 AT 30 fehaiare faar var
2| 9AD SUDRYT HT UISATD IT DY |

Sate and explain hydraulic actuators and hydraulic

valves.
6

BIsgifel®d VFgcxl aAT glggifad dredl &
IR ¥ qard der ar=n ) |
OR(3721dT)

Sate and explain construction and working
principal of potential transformer.

gIieaRrae aRonfia &) s1de a2m st
figid &1 ddeiTsd dAT ARAT BN |

NT3050

(i)

(iif)

(1i1)

(iv)

3 1640303

Udh gl ol SUBRY T AdeR fhar
ST AHhdT &

(31) dad Sodfio & fary

@) DI Todlo - ferg

(@) VUodlo aoIT Stotflo qIHl @ foruw
(€) Sulad A 9 HIg L

Resolution of an instrument is:

(a) The minimum quantity it can measure
(b) The maximum quantity it can measure
(c) The maximum non linearity

(d) None of these

Tdh IHNUT Bl Gbed
(@) =gra WA 59 ag ATY addr @
@) ferpaw wr=r 9 I8 919 Wadl @
(7) srferpay RRa®w
(@) s 9 BIg €l

Systematic errors are:

(a) Instrumental errors
(b) Environmental errors
(c) Observational errors
(d) All of the above

P.T.O
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GROUPC ,
(vi)

Answer all Five Questions.

Il uig gl & SR o

7. Draw connection diagram and vector diagram for

6x5=30

measurement in a 3-phase load using two wattmeter

method and explain it.

6 (vii)
gl grefiex fafsy &1 »aER R b Faody
YR &I 7191 & foIv GIIoE SRUT™ a1
dde} SIIUT Hid U9 S AAr Y |
OR (3121an) (vii)

Describe basic working principal of an electrostatic
voltmeter. Explain how would you increase the
operating forces and voltage range of the
voltmeter?
(viii)
Udh sadgiefed diecidicy @ giard ol
Rrgia &1 auia & | dieedicr @ SfwfeT
gl 9T diecdl WRTH &I 3T Y deRIAI?
TET W |

5 1640303

fd e (A7) &1 gaeR gfa |+
# gar 28—

(@1) Tewa o1 (AQ) @1

@) Stotflo ARA e (AY) &1

@) a9 i (|@q) &1

(]) dwuda diw (|q) &1

The dielectric loss of a capacitor can be
measured by which one of the following:
(a) Wien bridge

(b) Owen bridge

(c) Schering bridge

(d) Maxwell bridge

1 4 9 g e 9 e GuRE &1
IR dgfas s 3 A9 ST ST Gl @
@) 99 fiwr (Aq) |

@) g o1 (W) 9

@) kT e (J3g) |

(]) #guda w1 (W) 4

Electrostatic type instrument are primarily
used as:

(a) Ammeters

(b) Voltmeters

(c) Wattmeters

(d) Ohmmeters

P.T.O
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4. With neat and clean diagram explain the principle (x)
of operation of PMMC instrument.
4

AH—geR T @1 Jeraar 4 flogHoTHoH o
SUPRYT b DA Agid BT qui-] B |

(xi)
OR(3721dT)

Find the multiplying power of a shunt of 200Q2

resistence used with a galvanometer of 1000Q2
resistance. Determine the value of shunt resistance
to give a multiplying power of 50.
(x1)
200 319 YRRIE &1 ¢$ e 1000 3AH yRRIe
® UP Adad-ier & 91 gagd 2, Bl
AT T Tk AT B | AWl T ¥fh 50
IR e yfoRig &1 99 e |
(xii)
With the help of neat sketches describe the

construction and working of Megger.

% IETHIT B He—IAT § WIR B I91GC
aar &1d &1 i Y |

7 1640303

(@) foEies & arT a9 W)
@) 3% & fam w®

&) i > T W)

(]) saagiHfe®d 4voT W)

A dynamometer type wattmeter consists of
(a) Only potential coil

(b) Only current coil

(c) Potential and current coils

(d) None of these

Udh SRAMIHIEY a¥g & dreHier #
(1) Dae AR F@rad Bd @
(d) dde ORT FaTI BId 2

(@) WeaRaa 3R gRT F@d 8ld @
(?) 79 @ HIg =

The main objective of a process control is
(a) To control physical parameters

(b) To control mechanical parameters

(c) To control optical parameters

(d) To control electrical parameters

P.T.O
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(xx)  U®H GIATAATel SUHIOT & gRT i § 4
foa amavas fagivaRn & ool o
@Al 2—

(@) fage= (fAgus) gfea i
@) FrRfa a3 a1 gfea a1
(@) ST gfea =t

(%) SWida

GROUPB

Answer all Five Questions.

Il uig gl & SR o

4x5=20

2. What is loading efforts in instruments? Explain it
4

SYBION H AIfST gdma |1 2? D] ARAT
B |

NT3050 9 1640303

xiv) T& greaRmadfier st &xar 2—
(31) TRA HHA B YHTT WX
(@) gE®IA 99 W)
(|) SagIgE®I URoT W)
(]) SWRidd # 4 HIg 2]

(xv)  Which the following can not be measured by
multimeters.
(a) Frequency
(b) Current
(c) Voltage
(d) Resistance

(xv) WecHieX @ gRT =1 o & foa
HIYT ST Gbdl 28—
(a1) amrqfcr @1
() gRT BN
(A) diees &I
() ufo=ier &1

(xvi) The deflecting torque of a moving iron
instrument is proportional to:
(@)l
02y
() VI
( d) 13/2
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